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3) a convergent beam of light
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Understand the assertion statement and the reason given and choose the correct choice,

Assertion : When a person swims he pushes the water using the hands backwards and the

water pushes the person in the forward direction

Reason : For every action there is an equal and opposite reaction.

a) Both the assertion and the reason are true and the reason is the correct explanation of the
assertion.

b) Both the assertion and the reason are true but the reason is not the correct explanation of
the assertion.

¢) Assertion is true but the reason is false.

d) Both the assertion and the reason are false.
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State Rayleigh's law of scattering.
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Define : Relative atomic mass.
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Ccorrect the following statements -
i sympathetic NEIvous system is a part of central nervous system.’
i) Al the nerves in the body are covered and protected by meninges.
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The degenerated wing of a kiwi can be considered as an acquired character. Give lh;: reason,
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Understand the assertion statement and the reason given and choose the correct choice.
Assertion: Colchicine reduces the chromosome number.

Reason: It promotes the movement of sister chromatids to the opposite poles.

a. Assertion is correct and reason is wrong

b. Reason is correct and the assertion is wrong

¢. Both assertion and reason is correct

d. Both assertion and reason is wrong. g
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i) Why the apples weigh more at poles than at equator?

ii) Differentiate convex lens and concave lens . ‘
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i) Keeping the temperature as constant, if a gas in a container is compressed four times ofi

initial pressure. The volume of gas changing from 20ce (V1 cc) to V2 cc. Find the
volume V2. :

Use the analogy to fill the blank
1) Bats : Ultrasonic , Earth quake
ii) Whispering Gallery: Application of echo , Tracking a satellite ! ..................
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Write any two properties of gamma radiation.

What are control rods? Give an example,
qgmLﬂﬂﬂmn_cwrasg‘sm_g*ﬁ;mémL_nﬂmm&@p_Lu@;gﬂnatﬂw;mgn@
B BDETET STTELL S (5. f
ii) Gm@hwﬂmmuﬂsﬁﬂ@;mL‘n@u-a‘w@un‘wq.smmer@@as.

i) Name the acid that renders aluminium passive. Give reason for this.

ii) Write any two characteristics of chemical equilibrium,
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j Analyse the given assertion and reason. Choose the correct option,
Assertion: The Relative Molecular Mass of Chlorine is 35.5 a.mu.

Reason: The 1 abundance of isotopes of chlorine is not equal.
2) AandRare correct, R explains the A,

b) A is correct, R is wrong,

¢) Aiswrong, Ris cormrect,

d) A and R are corect, R doesn’t explains A.
ii) Distinguish between soaps and detergents.

gpuislleir o-eRTEY LWL WD Freuy o srend) uemswTeT 28 L AN aThmrHEured

TRINITI J{SPLOBSISTENS?

How is the digestive system of rabbit suited for herbivorous mode of feeding?
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Qe Burs 56T F1 somaysmpulls o margh Harrss aldlsh sterar?

Differentiate myelinated and non-myelinated nerve fibre. {

If we cross two different parents with the genotype of Tt x tt, what would be the
genotypic ratio in its Fy generation?
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What are the different phases of menstrual cycle? Indicate the changes in the ovary and
uterus.
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DNA aflrsv Grenag Gsmfapl Lisdsr s pamn unsrurBasmear sraggis.
B FCrravdanSrrdlen aHuBusHETT srramEsay GsToginiar ukig
saran? : W=

i) State the applications of DNA fingerprinting technique.
ii) What is the role of fat in the cause of atherosclerosis 7
) 10 Ay #4&Grrewen, Phdsmrss10% BenpssalsibEsrsim_ serFmal

Bup CammanuFn Fher plapamu Arrdle sorsdEs.
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2NaF +Cl;

PRI}
3] - T, ifl

B
Ly

=) 2NaCl + Fo——» _
ay) NaF +Cly ——» NaCl+F:

L i toprod
i) Caleulate the mass of water requir in grams o 10 g of .
the mass percentage of 10% solution.
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ii)  Which one of the following reactions is feasible? Give support to your answer,
a) 2NaCl+F> ____,  2NaF+Cl;
b) NaF +Cl, NaCl + F;
ug#l IV /PART IV

ooy §) g eflen sagndsi alleor weflssah,
i) gaiBlann eflerralihgs g A G s s
iii) Gamanunen B figaflst LD auengs.
i) Answer all the questions

i) Each question carries seven marks.
iii) Draw the diagram wherever necessary.
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Note : Ix1

3BA. 1) pesugddar amsssr urmalgabst gCsguh ety TOESISET GG
aflendgs?

i) Qsrenw Cpradsafisr vwsramens & mis.

i) What are the types of inertia? Explain any one of them with an example.

i) List the advantages of Telescopes.

(or) (ysvsog)

33B. ) g uppe gl gyeesmss GeoLGuurer  gGsmyb
Camiur@smstd Hms?

apsing

i) epraug gt mEdle stugdsl whmib @i eraimenssy, ( Seven segment display ) ey
Slam@ arl Al uglells GauefiuBEss.
i)  Give any three differences between the sound and light waves
i) Draw the picture of seven segment display for any one alpha numeric number.
34A. 1) A erétp & Georsn pefan gyauigser o Lasnasrufle 3 apih QETsnrujid, 1
b OsrEgHenwuio sripsg. A Brrafuysr QrgELE ﬂmmuﬁ’
aflenery kg, G iwiB o S6:Ams1.Cugits Ay e auedlsourd
SsfluyLsr(NaOH) aflmeryy 5 CaiwinC 2 soémas. A, B wppi © s
semfls. QUImHSSOTaT SWaATOFHLOUC L GaugléswsrurHsamer sregsl®
1) wL O sst srsieurg B wreur e THURSg1AsTmen?
i) Metal A belongs to 3 period and 13th group in the modern periodic table of elem®™™

A reacts with steam in red hot condition fo form compound B, A also reacts with

alkali (NaOH) to form compound C. Find A, B . ote balan®
chemical equations. 4B and C: Write Apprapte

i) How detergents cause water pollution?

(or) (spsbmg)

i)

Gmé}_g‘;@,ﬁrrgﬂgjan'mmnﬂd: s
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Nz+3H: — 2 NH;3

apeih b Gromssflir
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In chemical industries the following chemical reaction is used to produce ammonia in
large scale.

Nz + 3Hz

Crriigafly Gausurs

<« 2NH:

. Based on mole concept, calculate the mass of nitrogen gas and hydrogen gas required in

if)

. i)

if)

if)

kilogram to produce 1000kg of ammonia by using the above chemical equation.

Write one example each for chemical reactions to be faster and chemical reactions to be
slower in your daily life activities.

drralliGurds s Camanurers Few. allsrdgs.
Buysrarsemar  gaupdar QrwdurGsaildr suplusiald apsiu@ss
aflauf].

Transpiration is a necessary evil in plants. Explniin. :
Describe the types of neuron on the basis of their functions.

(OR) (yomzr)
s Flsflmflsr surpafluws) saflmersaysEmsT TESIID F)TTG DT TULSIS.
weimemrAiianL fafi sy SENTT?
Write any two physiological effects of ethylene.
How will you prevent soil erosion?
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10th — Science — PTA Question — 3: Answer Key

PTA Question -

3 Answer key

PART — |
1. ¢) a parallel beam of light
2. d) all the above
3.¢) lead
4.¢) 2CO(g + Oz~ 2C02 (g
5. b) linear chain hydrocarbons
6

. a) the attractive force of nucleus is more in Na* ion
than Na atom

7. b) mitochondrial matrix

8. a) active transport

9.c)bothaand b

10. ) 9:3:3:1

11. d) obese (Hint : Other 3 types are about Type-1 diabetes mellitus)
12. d) scratch

PART -II

13. Unit-1 : a) Both the assertion and the reason are true
and the reason is the correct explanation of the assertion.

14. Unit-2 : TB Pg.no: 30 WTS Guide Pg.no:25
15. Unit-7 : TB Pg.no: 104 WTS Guide Pg.no: 100

16. Unit-10 : pH scale range is 0-14.where 0-7 is
acid,7 is neutral and 7-14 is base. decreasing pH
increase in acidic character.
pH of a solution is zero means,

-log [H+]=0
[H+]=1
The concentration of hydrogen ion is 1. So it's
highly acidic solution.

17. Unit-12 :TB.Pg.no: 185  WTS Guide Pg.no: 154

18. Unit-13 : The sweat glands and sebaceous glands
embedded in the skin regulate the body temperature.

19. Unit-15: i)TB Pg.no: 227 WTS Guide Pg.no:188
i) TB Pg.no: 227 WTS Guide Pg.no: 188

20. Unit-19 : TB Pg.no: 283 ~ WTS Guide Pg.no: 234

21. Unit-20 : d) Both Assertion and reason is wrong.

PTA — Model question Paper — 3

PTA - worglfl aflemsgmer — 3

uggl — 1
1. @) SnHBBNBHMENT 2 (HOUTHGHLD
2. F) Bme DMNSHHILD
@) @smfuwib
@) 2CO() * Oz — 2C0Oz(g)
1) Crymen FRISISEOHTLT emaml Gyr SmTLICIEH6NT

A

o

) Nat owelulsd 2 I smele sajsd alams
Na sigmemer el HgHsib.

3

. o) ool BLramem_fuwimeledr o 1 1L (erol_Gymiom)
8. o) GQFwed @ HLSHHIHO
9. @) o wBBID &

10. &) 9:3:3:1
11. #) 2 1L 60 u@edr (Hint:wps 30 euend-1 enLwmLIgerd
OLO6VEIL_61V)
12. ®) scratch
ugg — Il

13. ov@g-1: 9 Fmmby wHyd Srjewid e bld
Ffl. Cosnd Smgewrid FmmmbeG FIUITET GBI,
14. WTS 676007 : 25

WTS  Ls.676007 :

IIVS-2: L5H5H& oleol: 30

15. Yv&-7: L5sH&E elevil: 102 102

16. ov@-10: PH walny 0-14. 0-7 sudeviiseniy,
7 BBBlewev, 7-14 Bmjsseienn Gsmemit &l PH sy
GOBUND CLITSHI DYOVEHSHOTNID DBHIB[ISBIBS/.
PH &y & stemms,
-log [H+]=0
[H+]=1
meUBL Jegeor  Sfieoilufenr GFnfley 1. e1em1Boy  DHB
DINLVSBEILD  CMBITE0TL BT ELD.
17. ov@-12: 1555 ereoi: 182  WTS  Liereomr - 160

18. By6v@-13: pweissr 2 L 60 Gyl ILBlensvemL]
Lgmiofiés  efliijene 1oMmID 61600 GleoTLT FHTL I IB6T
2_Fe6)Blevmen.

19. v@-15: 655 eremr: 224 WIS wiereor : 194

i) ysbss eremr: 224 WTS 1r.61600r : 194

20. HvG-19: 1)55E etemr: 283 WIS Lietemi : 248

21. OVG-20: F)FBA LOBBID BTFewrd @ewibLd Hedm
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10th — Science — PTA Question — 3: Answer Key

22. Unit-4 : Let length of single part be L' = é
R’:p_uzﬁzﬂz E:lQ
_ A 54 5 5 )
Effective resistance in Parallel connection,

—=—t—F—+—+=—=2=5Q
Rp R R R R R R
Ry =£=02Q

PART —11|

23. Unit-1 : i) Weight of a body varies from one place to
another place on the Earth since it depends on the
acceleration due to gravity of the Earth (g) weight of a
body is more at the poles than at the equatorial region.
So the apples weigh more at poles than at equator.

Unit-2 : ii) TB Pg.no: 30 WTS Guide Pg.no: 25

24. Unit-3 : i) Inside TB Pg.no: 39(Example —2)
Unit-5 : ii) a) Infrasonic
b) Application of Doppler effect

25. Unit-6 : i) TB Pg.no: 89  WTS Guide Pg.no: 87
ii) Control rods : Used to control the number of
neutrons in order to have sustained chain reaction.
Ex : Boron and cadmium rods.

26. Unit-8 : i) Dilute or concentrated nitric acid that
renders aluminium passive. Because, it does not
attack aluminium, but it renders aluminium passive
due to the formation of an oxide film on its surface.

Unit-10: i) TB Pg.no: 153 WTS Gui de Pg.no: 132

27. Unit-7 : i) Ais correct, R is wrong.
Unit-11:ii) TB Pg.no: 171 WTS Guide Pg.no: 142

28. Unit-13:i)TB Pg.no: 199  WTS Guide Pg.no: 166

29. Unit-15:1)TB Pg.no: 227  WTS Guide Pg.no: 190
Unit- 18: ii) F; generation

T t
t| Tt |t
t [Tt |t

Genotypicratio=2Tt: 2tt=2:2=1:1
30. Unit-17: TB Pg.no: 258 WTS Guide Pg.no: 217

31. Unit-20:i) TB Pg.no: 298 WTS Guide Pg.no: 246
Unit-21:ii) TB Pg.no: 313  WTS Guide Pg.no:257

oA . _ L
22. VG4 @ LTHHIN6 Herid, L= S
, L L _R 5
R:p_:p_:_:_zlg
A 54 5 5
ubss Semewililed QHT@GLUIT LOl6THML,
i=i+i+i+i+i:3259
R, R R R R R R
1
Rp =§:0'2Q

ugd — Il

23. oyev@-1: 1) yalwin) wpBsswaliny el B s58)H&
B 1D 1oTRIIBNSTEV, 616l UJdT 10BNND Bl HHBS B 1D
LOTILIBLD. Glumgpt_ werfleor 6T6mL_ BIBAIIGSHLI6D
SYBIBIOTHYD,  [BOVBBSCHTL BLI  LIHUTD  HemmeuTEad
B  oeGsy  BBBECHET Bl USHew el
DIBAUINIGINTD D Te1fleor 6TemL. DYFBLOTH B IBSHELD.

VG-2i1) LjG5HE stemr: 30 WTS  Li.eremr : 25

24. opve-3: 1) 55 2 _siri.eremr . 39 (r.eT — 2)

VG- 1)) GHemTed
&) Laermr eXlenerisdledr LiLITLITE

25. opves-6: 1) Y55 eremr: 88 WTS wreremr - 90
i)  &LEUUGSSND BIOE6IT: QMBI ferlsmermis
BlweVBSS]  BIULL FTeis e 60 6T6o0T6001 1 6B 6L I
B (BULIBSBINBBHTHL  LILITLIESDHLILIBB|BSI.

61.T : GUITFTei LB ST LOWLID SHIIBHT

26. ov&-8: i) DIVIALIS DB CFwsLIL THleweVS S

2 1 LIBSSINSGI B OBMID D[ bl i DD YeLo.

I Gleareaflsv, 8ps ofsvid DI Oeo1L15HBCHT (B
eXilemeorL jfleybHleVensv. OMmTES HeIBleofiLigDleir CLosy 24d6mF B
UL6VD 2 (56UTeYHIT6D, DB 6oT eweriBlD  Hleor
BOBSHBLILIBB)DSI.
V&-10: \)ys55 etemr: 151 WTS w.etemr : 137
27. syva-7: )A &, R somy
ov&-11: )ys55 eremr: 167  WTS Lietemr : 148
28.yv@-13: ) y5565 eremr: 196 WIS Lietemr - 174
29. 0@ 15: \ys55 eremi: 225 WIS wreremr - 196

ove5-18: 1) F1 semevupenm

T t
t | Tt |t
t Tt |t

Domids olpp =2Tt:2tt=2:2=1:1

30.9v&-17: 1j555 etemir: 256  WTS riereor = 227

WTS Ls.e1e00r :260
WTS  ws.616000 271

31.96065-20: 1) 1j55E sTevi: 297
VG-21: i) 555 eremr: 313
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10th — Science — PTA Question — 3: Answer Key

32. Unit-9: i) Mass of solute (sucrose) = 10g
Mass Percentage of solution = 10%
Let, Mass of water = x

So, Mass of solution = x + 10
Mass of the sloute

Mass % = — x 100
Mass of the solution
10 = X 100
x+10
X +10 =100 g

Mass of water = 90 g
Unit-10:ii) Inside TB Pg.no: 141

PART -1V
33A.Unit-1: i) TB Pg.no: 14 WTS Guide Pg.no: 11
Unit-2: ii) Inside TB Pg.no: 27

33B.Unit-5: i) Inside TB Pg.no: 60
Unit-4: ii) Inside TB Pg.no: 53 (Figure — 4.12)

34A.Unit-8: i) TB Pg.no: 123 WTS Guide Pg.no: 112
Unit-11:ii))TB Pg.no: 171 WTS Guide Pg.no: 142

34B.Unit-7:i)Mass of NH; produced = 1000kg=10° g
molecular mass of NHs=14 + (3 x1)=17¢g

mass of NHz produced __ 10°

No of moles of NH3 = =
molecular mass of NHz 17

2 moles of NHjs is produced from 3 moles of H;
6 6
% moles of NHjs is produced from % X % moles of Hy
Required Mass of Hz = no of moles x molecular mass
6
:% x; X (2 x 1) = 176.47 kg of H,
2 moles of NHs is produced from 1 mole of N
g moles of NHjs is produced from % X % moles of N
6
Required Mass 0f No= 2= x = x (14 X 2) = 22 x 106
17 2 34
= 0.82353 X 10° g =823.53 kg of N

~ Required mass of Nitrogen gas = 823.53 kg
Required mass of Hydrogen gas = 176.47 kg

Unit-10: ii) Faster Reaction - Digestion of food
slower Reaction -Rusting of iron
35A.Unit-14: i) TB Pg.no:215 WTS Guide Pg.no:182
Unit-15:ii) Inside TB Pg.no: 220

35B.Unit-16:i) Inside TB Pg.no: 232
Unit-22:ii)TB Pg.no: 327 WTS GuidePg.no:267

32. v@-91)semrQuUTHefer Hersiene] = 10 &
semygelst saraiene] = 10 %
bt Mewm X 676075
160186y, BemgFelerr plemm = X + 10
SHMTOLIT(HEIT6HT B0 Di6Te)] % 100

Heniene] % =
Sleriey HMTFGT BV SI6TT6)|
10
x 100

10 =
X+10
x+10 =100 &
pifler Bewm = 90 &)
DV&-10: 1) 1555 2 _ei.ii.etemr : 139
ugad — IV

3BA. wv@-1: )ysss eemr: 14 WIS w.etemr - 11

Qv@-2: 1) 555 2_eiierenr - 27

33B.9/v@-5: 1) ys55 2 eiiieremr - 61

vG-4: ) yss5 2 eirtreremr 54 (L - 4.12)
34A. ov5-8: \\ysss eremr: 120 WTS rr.ete00r - 116
V@G- 111) 555 erewr: 167 WTS Lieremr : 148

34B. oyevg-7i) GeueuiBio NHz Blenm =1000kg=10° g
NHz-s1 plemp =14 + (3 x1)=17¢g
NHs 2 _siten Gomevaseriiein erevtemildenad =
NH3 Beop _ 10°
NH; Guneosefisn Beop 17
2 Biomed NH3 eyeuig1 3 Gomsd HosOmibg Geueilaumamgl.
6 6
%@m@ Nm%@@]% x z(am@Hzea@b@ CrsfarBDE.
Caxeweuliuid Ho efletr Blewm = Gomsvseisd  stevienildena
X (pe0EH I BIH6NT6TN [Hlenm
:11—0: x3 x (2 x 1) = 17647 kg of H,
2 Gomsv NH3 oyeniasi 1 Guomed Noelhibg Oesilaumamal.

6 6
%Gmrrsb NH; sy % X %(&Dﬁ@ HosOibs1 Geustiourmeinsi.

E
34
= 0.82353 x 10° g =823.53 kg of N
~ Cxrenaulu®Bld Hy aler mlenp =176.47 &&
CaxenauluB N eflesr Blenp =823.53 A

6
Brmain Ny olsr Boon=—— X =X (14X 2) =22 x 10°

Diev@-10:41) Gouslons [mem_GLiD 6Xlsmer - 2_coois) GFls6D
ClosieuTs [BemL GlLimd eflswer - GBLiL] SHIBLILINIgSSH6D
35A. opv&-141) ysss stemr: 212 WTS 1r.ere00r : 188
Dv@-15: 1) 1655 2_sirLieremr 217
35B. @wv@-161) 11555 2_eiii.eremr . 229
SIV&-2211) 555 oreor: 327 WIS Lieremor : 282
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